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QUESTION 1

You want to implement Storage Foundation Enterprise in your storage environment. You want to ensure you have at
least 5 GB of free space after the Storage Foundation 5.0 has been installed on your computer. You are installing
Storage Foundation on the same drive where the operating system has been installed. 

What should be the size of the system drive to meet the requirement? 

A. 6245 MB 

B. 5922 MB 

C. 6524 MB 

D. 6287 MB 

Correct Answer: B 

 

QUESTION 2

You are the administrator of Veritas Volume Manager in Veritas Storage Foundation environment. You want to remove
a disk from a disk group. You execute the command vxdg -g dg01rmdisk d001. After executing the command, you are
prompted with the error "VxVM vxdg ERROR V-5-552 disk diskname is used by one or more subdisks." You want to
ensure you are able to remove the disk from the disk group. 

What should you do? 

A. Use -n option with vxdg command 

B. Use -t option with vxdg command 

C. Use -o option with vxdg command 

D. Use -k option with vxdg command 

Correct Answer: D 

 

QUESTION 3

You need to mirror an existing volume named mirvol1. You need to achieve the following goals: 

Mirror mirvol1: Should be a single mirror to the existing volume using disk mydg01: 

Synchronization must take place in the background: To meet the required goal, you execute the following command: 

vxassist -g mydg -b make mirror mirvol1 \ use_storage=\\' "DM"="mydg01" 

Which of the defined goals have been met? 

A. All goals have been met. 
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B. Only the first goal has been met. 

C. Only first and second goals have been met. 

D. Only first and third goals have been met. 

Correct Answer: A 

 

QUESTION 4

Which file is required to decrypt the edpa_ext0.log using the Endpoint Agent logdump utility? 

A. dcs.ead 

B. cg.ead 

C. ks.ead 

D. is.ead 

Correct Answer: C 

 

QUESTION 5

An organization needs to determine whether at least 50% of a sensitive document is being sent outside the
organization. Which action should the company take to accomplish this? 

A. use a whitelisted.txt document 

B. use match on selected fields 

C. use match count 

D. use minimum document exposure 

Correct Answer: D 
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